
qm= ;+= of]hgfsf] gfd :yfg÷&]ufgf ljlgof]hg /sd ?=

s

1 ljpmljhg vl/b, EofS;Lg, s[lif ;DjGwL tflnd j*f g+= 4, vfgL%fk 150000.00

j*f g+= 4, vfgL%fk

hDdf M 150000.00

v

1 /fd df=lj=/fDbL÷dn]ª, lxdfno lg=df=lj=, lxdfno k|f=lj= j*f g+= 4, vfgL%fk 525000.00

2 u+ufb]jL k|f=lj=, gjb'uf{ k|f=lj= / /fDbL k|f= lj= j*f g+= 4, vfgL%fk 160000.00

3 :jf:Yo sfo{qmd” tflnd, pks/)f vl/b, kf]if)f sfo{qmd j*f g+= 4, vfgL%fk 150000.00

4 vf= kf= of]hgf j*f g+= 4, vfgL%fk 350000.00

5 v]ns'b M;fdfu|L vl/b tyf v]n ;+rfng j*f g+= 4, vfgL%fk 25000.00

hDdf M” 1210000.00

u

1 gfo/rf}kf/L”vfgL%fk”/fDbL df]^/ af^f] ;'wf/ dd{t j*f g+= 4, vfgL%fk 1000000.00

2 efn]af;”dx%fk df]^/ af^f] lgdf{)f j*f g+= 4, vfgL%fk 500000.00

3 4 g+= j*f cGtu{tsf ;a} df]̂ / af^f]x? dd{t ;+ef/ j*f g+= 4, vfgL%fk 200000.00

4 u'*'jfvf]nf”jemfbL uf]/]^f] af^f] (''·f %fKg] j*f g+= 4, vfgL%fk 100000.00

5 s"nf] dd{t tyf l;+rfO{ sfo{qmd j*f g+= 4, vfgL%fk 75000.00

6
;xsf/L ejg lgdf{)f vfgL%fk tyf ;fd'bflos ejg lgdf{)f -
dx%fk / dn]·_ j*f g+= 4, vfgL%fk 500000.00

7 ;]/f, ltv'd, ;fe]m*f+*f u'*'jfvf]nf ;fd'bflos ejg lg= j*f g+= 4, vfgL%fk 425000.00

hDdf M” 2800000.00

#

1 e"”Ifo÷klx/f] lgoGq)f -tf/hfnL vl/b_ j*f g+= 4, vfgL%fk 200000.00

2 w'“jf /lxt r'nf] lgdf{)f j*f g+= 4, vfgL%fk 35000.00

hDdf M 235000.00

ª

1 sfof{no Aoj:yfkg, clen]v, tYof+s, tflnd j*f g+= 4, vfgL%fk 105000.00

r

1 dlxnf ” ;+:s[lt k|j${g, Ifdtf ljsf; tflnd j*f g+= 4, vfgL%fk 75000.00

2 afnjflnsf ” jf}l$s, ;f+:s[lts, %fqj[lQ sfo{qmd j*f g+= 4, vfgL%fk 75000.00

3 cfbLjf;L÷hghftL” Ifdtf ljsf; tflnd j*f g+= 4, vfgL%fk 37500.00

jftfj/)f tyf ljkb\ Aoj:yfkg If]q tk{m M

;+:yfut ljsf; tyf ;]jf k|jfx / ;'”zf;g If]q tk{m M

cGo -nlIft ju{_ M” 

augf;sfnL ufp“kflnsf

4 g+= j*f sfof{no, vfgL%fk, kfNkf

cf= j= 074÷75 sf nflu j*f e]nfaf^ kfl/t eO{ ufp“ sfo{kflnsfdf k]z ePsf of]hgf÷sfo{qmdx?

cfly{s ljsf; If]q tk{m M

;fdflhs ljsf; If]q tk{m M

k"jf{wf/ ljsf; If]q tk{m M



4 ckf· ” ckf·nfO{ eQf ljt/)f j*f g+= 4, vfgL%fk 37500.00

5 blnt ” afv|fkfng, Ifdtf ljsf;, vfg]kfgL sfo{qmd j*f g+= 4, vfgL%fk 37500.00

6 h]i&gful/s ”  h]i&gful/s ;Ddfg sfo{qmd j*f g+= 4, vfgL%fk 37500.00

hDdf M” 300000.00

ufp“kflnsfdf dfu ug]{ of]hgfx? M

1 u'*'jfvf]nf”ltg%fuf”ltv'd df]^/ af^f] lgdf{)f of]hgf

2 wf;]{ df]̂ / of]hgf

3 &"nfv]t sNe {̂ lgdf{)f

4 u'*'jfvf]nf”vfgL*f“*f”kfvGbL df]^/ af^f] lgdf{)f of]hgf

5 u'*'jfvf]nf”n'·bL df]^/ af^f] of]hgf

6 a}B eGHof·”efn]af; df]̂ / af^f] of]hgf

7 200 yfg kmdfn] ljB't kf]n, ljB't lj:tf/ ug{ 3000 ld^/ tf/ .

8 350 hfg tf/hfnL 

9 ^«fG;ld^/ dfu

10 vfgL%fk eGHof· l;/fg;Dd uf]/]^f] af^f] ;f]ln·, (nfO{

s]Gb|df dfu ug]{ of]hgfx?

1 vfgL%fk lnk\ml^· vf= kf= of]hgf

2 ;]/f dn]· lnk\ml^· vf=kf= of]hgf

3 ;fd'bflos ejg lgdf{)f dn]ª

4 4 g+= j*f sfof{no ejg lgdf{)f

5 :jf:Yo rf}sL ejg lgdf{)f

6 /fd df= lj= /fDbL klx/f] Aoj:yfkg

7 r]kf·bL emf]= k'= lgdf{)f

8 /fDbL #f“^ Aoj:yfkg÷zjbfx u[x lgdf{)f



s}lkmot

cf= j= 074÷75 sf nflu j*f e]nfaf^ kfl/t eO{ ufp“ sfo{kflnsfdf k]z ePsf of]hgf÷sfo{qmdx?




